

A NEGATIVE ANSWER TO POPESCU'S CONJECTURE

TOMONARI SUZUKI

Department of Basic Sciences, Kyushu Institute of Technology
Tobata, Kitakyushu 804-8550, Japan
Department of Mathematics, Faculty of Science, King Abdulaziz University
Jeddah, Saudi Arabia
E-mail: suzuki-t@mns.kyutech.ac.jp

Abstract. We give a negative answer to Popescu's conjecture on some fixed point theorem in complete metric spaces, which was raised in 2013.

Key Words and Phrases: Fixed point, complete metric space.

2010 Mathematics Subject Classification: 47H10, 54H25.

1. INTRODUCTION

Recently, Popescu [3] proved very interesting fixed point theorems. The following is a corollary of one of the theorems.

Theorem 1.1 (Popescu [3]). *Let (X, d) be a complete metric space and let T be a mapping on X . Suppose that there exist real numbers r and s such that $0 \leq r < 1$, $r < s$ and*

$$d(y, Tx) \leq sd(y, x) \implies d(Tx, Ty) \leq rd(x, y)$$

for all $x, y \in X$. Then T has a fixed point.

We note that Theorem 1.1 is a generalization of the Banach contraction principle [1]. In [3], Popescu raised the following conjecture.

Conjecture 1.2 (Popescu [3]). Theorem 1.1 is still valid in the case where $r = s$ instead of $r < s$.

If this conjecture were true, then Theorem 1.1 would be a partial generalization of Theorem 2 in [4] because $d(y, Tx) \leq rd(y, x)$ implies $(1+r)^{-1}d(x, Tx) \leq d(x, y)$. So it is very meaningful to study whether this conjecture is true. See also [2, 5].

In this paper, we give a negative answer to the above conjecture. That is, we can tell that the condition $r < s$ in Theorem 1.1 is best possible.

The author is supported in part by Grant-in-Aid for Scientific Research from Japan Society for the Promotion of Science.

2. RESULTS

In this section, we give our main results. We denote by \mathbb{N} the set of all positive integers and by \mathbb{R} the set of all real numbers.

Lemma 2.1. *Define a set X by*

$$X = \{u_1, u_2, \dots, v_1, v_2, \dots, a, b\}. \quad (2.1)$$

Let f and g be functions from \mathbb{N} into $(0, \infty)$ satisfying $f(m) \geq f(n) \geq g(n)$ for any $m, n \in \mathbb{N}$ with $m < n$. Let c be a positive real number with $c \geq f(1)$. Define a function d from $X \times X$ into $[0, \infty)$ by

$$d(x, y) = \begin{cases} 0 & \text{if } x = y \\ f(m) + g(n) & \text{if } x = u_m, y = u_n, m < n \\ f(n) & \text{if } x = u_n, y = a \\ c + g(m) + g(n) & \text{if } x = u_m, y = v_n \\ c + g(n) & \text{if } x = u_n, y = b \\ c & \text{if } x = a, y = b \\ d(u_m, u_n) & \text{if } x = v_m, y = v_n, m < n \\ d(u_n, b) & \text{if } x = v_n, y = a \\ d(u_n, a) & \text{if } x = v_n, y = b \\ d(y, x) & \text{otherwise.} \end{cases}$$

Then (X, d) is a complete metric space.

Proof. It is obvious that $d(x, y) \geq 0$, $d(x, y) = 0 \Leftrightarrow x = y$ and $d(x, y) = d(y, x)$ for any $x, y \in X$. We put u_0, u_∞, v_0 and v_∞ by $u_\infty = v_0 = a$ and $u_0 = v_\infty = b$. We also put $f(0) = c$, $f(\infty) = 0$ and $g(\infty) = 0$. In order to simplify the proof, we suppose $g(0)$ is a real number with $0 \leq g(0) \leq f(0)$. Then we note

$$d(u_i, u_j) = f(\min\{i, j\}) + g(\max\{i, j\})$$

for $i, j \in \mathbb{N} \cup \{0, \infty\}$ with $i \neq j$ and

$$d(u_n, v_t) = c + g(n) + g(t)$$

for $n, t \in \mathbb{N} \cup \{\infty\}$. So we have

$$d(u_i, u_j) \geq f(\min\{i, j\}) \geq f(j) \geq g(j) \quad (2.2)$$

and

$$d(u_i, u_j) \leq f(\min\{i, j\}) + f(\max\{i, j\}) \leq 2c \quad (2.3)$$

for $i, j \in \mathbb{N} \cup \{0, \infty\}$ with $i \neq j$. We shall prove the triangle inequality of d . Suppose $i, j, k \in \mathbb{N} \cup \{0, \infty\}$, $i < j$ and $m, n, s, t \in \mathbb{N} \cup \{\infty\}$. We also suppose that $u_i, u_j, u_k, u_m, u_n, v_s$ and v_t are all different. We have from (2.2)

$$d(u_i, u_j) = f(i) + g(j) \leq d(u_i, u_k) + d(u_j, u_k).$$

We have from (2.3)

$$d(u_m, u_n) \leq c + c \leq d(u_m, v_t) + d(u_n, v_t).$$

Also we have from (2.2)

$$d(u_n, v_t) \leq f(n) + c + g(t) \leq d(u_n, u_m) + d(v_t, u_m)$$

and

$$d(u_n, v_t) \leq c + g(n) + f(t) \leq d(u_n, v_s) + d(v_t, v_s).$$

We have shown the triangle inequality of d . Therefore (X, d) is a metric space. Let us show that X is complete. We consider the following two cases:

- $\lim_{n \in \mathbb{N}, n \rightarrow \infty} f(n) = 0$
- $\lim_{n \in \mathbb{N}, n \rightarrow \infty} f(n) > 0$

In the first case, we let $\{x_n\}$ be a Cauchy sequence in X such that x_n are all different. Since

$$\inf\{d(u_n, v_t) : n, t \in \mathbb{N}\} = c > 0,$$

there exist $\nu \in \mathbb{N}$ and a function h from $\{n \in \mathbb{N} : n \geq \nu\}$ into \mathbb{N} such that $\lim_n h(n) = \infty$ and either $x_n = u_{h(n)}$ for all $n \geq \nu$ or $x_n = v_{h(n)}$ for all $n \geq \nu$. Then $\{x_n\}$ converges to a or b . In the second case, since

$$\inf\{d(x, y) : y \in X, y \neq x\} \geq \lim_{n \in \mathbb{N}, n \rightarrow \infty} f(n) > 0$$

for any $x \in X$, there exists no Cauchy sequence $\{x_n\}$ in X such that x_n are all different. Therefore X is complete. □

Now we give an example which shows that Popescu's conjecture is false.

Example 2.2. Let $r \in (0, 1)$ and put $\varepsilon = 1 - r$ and $\kappa = 1/r$. Define a set X by (2.1). Define sequences $\{p_n\}_{n \in \mathbb{N} \cup \{0\}}$ and $\{q_n\}_{n \in \mathbb{N}}$ in \mathbb{R} by

$$p_n = r\varepsilon \frac{n + \kappa + 1}{n + \kappa + 2} \quad \text{and} \quad q_n = \frac{\varepsilon}{n + \kappa + 1}.$$

Define a metric d on X by

$$d(x, y) = \begin{cases} 0 & \text{if } x = y \\ r^m(1 + p_m) + r^n(1 + q_n) & \text{if } x = u_m, y = u_n, m < n \\ r^n(1 + p_n) & \text{if } x = u_n, y = a \\ 1 + p_0 + r^m(1 + q_m) + r^n(1 + q_n) & \text{if } x = u_m, y = v_n \\ 1 + p_0 + r^n(1 + q_n) & \text{if } x = u_n, y = b \\ 1 + p_0 & \text{if } x = a, y = b \\ d(u_m, u_n) & \text{if } x = v_m, y = v_n, m < n \\ d(u_n, b) & \text{if } x = v_n, y = a \\ d(u_n, a) & \text{if } x = v_n, y = b \\ d(y, x) & \text{otherwise.} \end{cases}$$

Define a mapping T on X by

$$Tx = \begin{cases} u_{n+1} & \text{if } x = u_n \\ v_{n+1} & \text{if } x = v_n \\ v_1 & \text{if } x = a \\ u_1 & \text{if } x = b. \end{cases}$$

Then (X, d) is a complete metric space, T has no fixed points and T satisfies

$$d(y, Tx) \leq rd(y, x) \implies d(Tx, Ty) \leq rd(x, y) \quad (2.4)$$

for any $x, y \in X$.

Proof. In order to simplify the proof, we define q_0 . Put $v_0 = a$ and $u_0 = b$. We first note that $\{p_n\}$ is increasing, $p_n > 0$ and $q_n > 0$. Define functions f and g from $\mathbb{N} \cup \{0\}$ into $(0, \infty)$ by

$$f(n) = r^n(1 + p_n) \quad \text{and} \quad g(n) = r^n(1 + q_n).$$

We note that f is decreasing because

$$f(n+1) < r^{n+1}(1 + \varepsilon) = r^n(2r - r^2) < r^n < f(n)$$

for $n \in \mathbb{N} \cup \{0\}$. We also note $g(n) < f(n)$ because

$$f(n) - g(n) = \frac{r^n \varepsilon (r(n+1)^2 + n)}{(n + \kappa + 1)(n + \kappa + 2)} > 0$$

for $n \in \mathbb{N} \cup \{0\}$. By Lemma 2.1, (X, d) is a complete metric space. It is obvious that T has no fixed points. Let us prove (2.4). In the case where $n \in \mathbb{N} \cup \{0\}$, $x = u_n$ and $y = u_{n+1}$, since

$$d(u_n, u_{n+1}) = f(n) + g(n+1) = r^n(1 + r + r\varepsilon),$$

we have

$$d(Tx, Ty) = d(u_{n+1}, u_{n+2}) = rd(u_n, u_{n+1}) = rd(x, y).$$

In the case where $m, n \in \mathbb{N} \cup \{0\}$, $m+1 < n$, $x = u_m$ and $y = u_n$, we have

$$\begin{aligned} d(y, Tx) &= r^{m+1}(1 + p_{m+1}) + r^n(1 + q_n) \\ &> r^{m+1}(1 + p_m) + r^{n+1}(1 + q_n) = rd(y, x). \end{aligned}$$

We also have

$$\begin{aligned} d(x, Ty) &= r^m(1 + p_m) + r^{n+1}(1 + q_{n+1}) \\ &> r^m(1 + p_m) + r^{n+1} \\ &= r^{m+1}(1 + p_m) + r^m \varepsilon (1 + p_m) + r^{n+1} \\ &> r^{m+1}(1 + p_m) + r^m \varepsilon + r^{n+1} \\ &> r^{m+1}(1 + p_m) + r^{n+1}(1 + \varepsilon) \\ &> r^{m+1}(1 + p_m) + r^{n+1}(1 + q_n) \\ &= rd(x, y). \end{aligned}$$

In the case where $m, n \in \mathbb{N}$, $x = u_m$ and $y = v_n$, we have

$$\begin{aligned} d(y, Tx) - rd(y, x) &= \varepsilon(1 + p_0) + \varepsilon r^n(1 + q_n) + r^{m+1}(q_{m+1} - q_m) \\ &> \varepsilon + r^{m+1}(q_{m+1} - q_m) = \varepsilon - \frac{r^{m+1}\varepsilon}{(m + \kappa + 1)(m + \kappa + 2)} > 0. \end{aligned}$$

Since $\{p_n\}$ is increasing, we note $rf(n) < f(n+1)$ for $n \in \mathbb{N} \cup \{0\}$. In the case where $n \in \mathbb{N}$, $x = u_n$ and $y = a$, we have

$$d(y, Tx) = f(n+1) > rf(n) = rd(y, x)$$

and

$$d(x, Ty) > f(0) > f(n) = d(x, y) > rd(x, y).$$

In the case where $x = a$ and $y = b$, we have

$$d(y, Tx) = f(1) > rf(0) = rd(y, x).$$

In the other cases, we can prove (2.4) similarly. So we have shown (2.4). \square

Remark 2.3. In the case where $r = 0$, Popescu's conjecture is true. Indeed the condition

$$d(y, Tx) \leq 0d(y, x) \implies d(Tx, Ty) \leq 0d(x, y)$$

implies that Tx is a fixed point of T for any $x \in X$.

REFERENCES

- [1] S. Banach, *Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales*, Fund. Math., **3**(1922), 133-181.
- [2] M. Kikkawa, T. Suzuki, *Three fixed point theorems for generalized contractions with constants in complete metric spaces*, Nonlinear Anal., **69**(2008), 2942-2949.
- [3] O. Popescu, *A new type of contractive multivalued operators*, Bull. Sci. Math., **137**(2013), 30-44.
- [4] T. Suzuki, *A generalized Banach contraction principle that characterizes metric completeness*, Proc. Amer. Math. Soc., **136**(2008), 1861-1869.
- [5] T. Suzuki and M. Kikkawa, *Some remarks on a recent generalization of the Banach contraction principle*, in Proceedings of the Eighth International Conference on Fixed Point Theory and its Applications (S. Dhompongsa, K. Goebel, W. A. Kirk, S. Plubtieng, B. Sims, and S. Suantai Eds.), Yokohama Publishers, 2008, 151-161

Received: January 23, 2014; Accepted: December 4, 2014.

